sy St -
?.m.ml ‘.nb (@] mﬂ o)
v S R
- e o e [xe
i fe T e
& 5 =% oz
[Ct N vt mm . :m.mu a
i 5 g
S RS ® = oo O
S .2 g
2 B o @
o 0D
PR I )
Qo =
Lo =
[ mw
]
O 4
s o] fh
W e
Py L
ST o
o0 om
o ] o
ey i) ﬂ CJ
Mww &) = o
= R N
. g St
P o P9
2 =d £
5 g b
Dt .Qu oy VNM mw
L2 a5
SR < I~
[l O "
; » OS]
o B Wm
! LR R
[~ it
L
@ e
O GH
et o0 mm
O o & ° &
- e !
O o =R, =
a3 - z
oy ,nt, fens B € o
™t r >N e
je L 5 4
[ e ~ ot 5
5 e R O
@ . © 858 o
W. msw & Mm bd o
ha [ - B - o ©
Foet = o w i Ny
& W - 5 8
e - vt P (o]
y QO ke
[} st , o P}
- = P g
& \ 2
L2 - = ¥ = 5
2y a P 2o s g
Rl w = 5o Bz
o3 o, @ oM
w,mm o W %‘u Y,hlv ey
{ oy 1
¥ i < ¢ o X
T o P
‘s o w
-

o



}

/
T
o

)i

[3 Marks]

revenue chs nges, when E/Jf{’ff

[
Nt

“Healthy Life” is a fitness training com any and it offers both traditional type
y yp
Yoga training course and western type physical training course. Generally,

1
H

one customer registers with one course. Recently, the company experienced a

e

drop of number of customers for the traditional type Yoga training course,
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{3 Marks]

(o))
[

)

f e
fourth year, the machinery will be sol

d for Rs. 1,800.00. Depreciation is

allowed on straight line basis for the machinery. The applicable discount rate
1e71

is 16% per year for this investm

1.} Calculate the depiegzaubn value per year for the machinery.
ii.) Calculate the Net Present Value {Nﬁms/ of the investment.
iii.) Based on the NPV, do you recommend accepting this project or not?
Why?
iv.) Write the formula for the Profitability Index (PI).
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